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Course notes adapted from N. Hammoud’s NYU lecture notes.












Change of Basis

Let £ € R", and let 8, = {v1,...,Un} and B2 = {w,..

What are the coordinates of 7
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/Y c1,C2,...,Cy are the coordinates of £ in [
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U\\M(C)wb — T =di1w1 + doWa + - + dpWn

di,ds,...,d, are the coordinates of Z in
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., Wy} be bases for R™.
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113 =c1U1 +coUa + -+ + Cnvn Z = dyiy + dotWs + - - - + dptiin

c1U1 + U2 + -+ - + CpUp = d1W1 + doW2 + - - - + dnWn
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T = c1U1 + CoU2 + + -+ + CrUp T = diW + doWsa + - - - + dp 0y,

Cc1U1 + CcoU2 + « - - + CpUy = d1W1 + doWs + - - - + dpWy,
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